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g 25,114,000 25,114,000 0
Jl 1,383,111 1,249,021 134,090
& 57,311,927 54,129,405 3,182,522
A=Y dHY A 55,865,888 52,738,206 3,127,682
= 5,497,035 4,710,875 786, 160
J| 1,249,021 1,249,021 0
& 49,119,832 46,778,310 2,341,522
gN™I|IB 2= 7,770,111 6,085,111 1,685,000
= 625,000 625,000 0
J| 1,249,021 1,249,021 0
o= 5,896,090 4,211,090 1,685,000
=X Esids N (sE=8s 4,265,000 2,930,000 1,335,000
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403 XX SHHS K20 & 4,240,000 2,905,000 1,335,000
01 XIS A2 X 4,240,000 2,905,000 1,335,000
O==Eg=2cads JIs2L(ME) 500,000 250,000 250,000
OY9a 44 SIIZ2AE NAY(HEH 394,000 0 394,000
OHSKED|Iet XA (HEH 300,000 0 300,000
OXNSTY SMHs HMIOTINE(MEH) 150,000 0 150,000
OS2 REQTZ HESEHS(ME) 710,000 469,000 241,000
SEEMASHAY (X E) 1,100,000 750,000 350,000
403 XX SHHS K20 & 1,100,000 750,000 350,000
01 XIS A=Z2E X 1,100,000 750,000 350,000
OFEd T ZZECE AN & & & 350,000 0 350,000
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307 gizto| A 24,300 0 24,300
04 CIZ2tSHALALS B = 24,300 0 24,300
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= 1,101,562 1,104,852 A 3,290
S 499,615 499,615 0
01 AXHHBAEES 1,601,177 1,604,467 23,290
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